0 L3244 5% 2019 sAY%,

/ y Q=) TAIa- 2R Y= 0(%2)’—1 t #5173
ChhY (43) @3t 3= a(4a) -l a= | 512 ey 3 2KREN j=(x-z):-]

) 2RM#@ Y=al-3)+bex173,
4.1) ER3ne )= +b

U-5)2F3me ~F=4a+b
ChSERY -2, be3 Sl tww3 kM e —alx-3)"%3
3 2R Y=20-a)-T t&ys.

> € Dmt%ﬁﬁ\féh“'lx‘cfaii:cb‘g "...
1] = Q(o_o.)z—'] > a>o0

o= 3 57 ey 3 2Kkl 3'2(1-’5"7

1
|
i
0



0 L2244 5% 2019 sAY%,

‘F'l:

2 £ P 5N
- (j)'(§)=~0~*lf~2[>=o o+2b = -/
- S8 0,
A = (i).(i)=—~éa+w+?£=o 2—-bh=§
AU, a=-1b=-T

(v ¥HoAIZ =3

iz (3)si)s (%)

to28t &), s=-p,y=-b B=7 $(3.-¢.7)
) H(3.4.-7)

5{:=(21‘10: 14) ¢ b_l-:[=(2.0,0)

D—?:'13—:1=4 15F’\=\]4+(uu+l? = loJ3 ,\[;:‘lsfz

A E{h’DFF: P At B L T
T IBPIIBH | lefz.2 S 1€




B L244£% 2019 sA Y%,

3

o Jog= 220w xSan- 9lx) =2~ |
for =960 2 Bce

2 xBRAO0ThnREa BRI

(z) 5:'(“) e Ix 2L -2

)(Ei) =L+2-2=6

{E“l) = {7 =2 =2

C.odb3 a8 Y =6x-§ ,

()
Y=4x 71

N bexdii

Vi

27(3—21 =0

x (#+0)2-1)=0. H=06.1-1.

Oy )= U,e), C-1,0)

Y= ¢(x-1)+0 & Y=tx-4

=2(+0)+0 & Y=2x+2,

~

Y=aax42

(o) ek s&R 3 =242

220 di50 9 &z

S~ =20+2 &V X=2i 4 =16

>c=|z3=zx+:_qi.'€r; ()_j)=(;,q.)
574 w1 Ffiio 02,

[
S =j_l 2x+2 - Oty Jda s = (4-0) <(e-1)

s
I 2
3 2L"?L +3dx + 2
( 3 {
— 2[__ §)(+?7{]b+‘l

I{
= = + -
32’_

wIR



R LaP44 K% 2019 sA ko

y = 2%
~ )
(7( Qi = |
‘?\ Gz = 4
6s = lo
\ , Gttt
£ e R0t
\
3
h=4
. sy Y-l
\ \ e
n=1 n=2 n=3s
=aey yrmel Yeoasg

Y £ Y TR R e S I S = T
B3 34BN E R 3.
(Re 4 & B3IE & 325 00)
Ros 1 1) 2 A3E 70 R K] 1B 220 Tons
£ o (BRI & e Th3IILE.
9<ax. Y > 3R s §2-aa3n. J AT
[ARAEL N & VS

Thsia. Jim A Sh :J =2+3nt[, h=~xt3nt+2
N wIhAoRREILET

4= 3+3nkizdhdaniz A< xd2Zni

F®rIE 2nd-n = -l (6573

Y=-x43nx 1k 1ihdal? Sgﬂ ETY &S"”‘Jg

Ik ndx<lnt| sy nighr3d

&
Yena3ngr iz h3ala \1;2 <"<3:[§!‘£) t

."@T-J:Ez“ n{x<an2 &) h+l BIARI3
J-J\ l’:‘;} O\h-ﬂ = 0n + (“‘1)-\- n + (h-i-l)
Owat = On + 300

L 3
() Qn= Gu+ EFR = 14 Z(nn =

2 3
zl‘\- z\'l-q-\



B L2244 5% 2019 sA Y%,

S (0 AB=b Ab=d ,AE=C <
BM: MF =2: ( ) Afi= B+=¢
DN:INH =2 = &y A—:l= 2+§€

AP = 2B
R13F® PMNE I 3

AQ = RAR+ g AN+ mAP  (RefQam=t)

= Rb: 2R+ 0d + 208+ T

QBADE [thhiat £X o b, ¢t ofhia b

RAIL ) #5h 1=
Ag:ep=xs -2 Rex = o $hezh=o
\(,L’Lé:\\'ff &71—1{1" R =tx | 2 =x, ™= |- R'—.Q = [’")-;L'
2 4L E Bl i =
WA e S AQ =l xld 52 A@s@b=a : I-2

b APAM t AGMN o T8 oz Pa. Mu & T U hnkdr Zidm Al BT 5,7
Wiae. Bifakeia Pa :MNa@atelz d La.

—> C = = = =) — -3 b &
Pa= xd-xb , M= d+3e-7-3€=d-F EH35 PQ ey = < |

APaMaB1dh s s LI3T

S'= 3 |5 PleR P Go-fi )
J —

VTR B o | e e P s - SR O

[Pul :\Cl—x)f+§€[2= (-x Fx25 + o+%x9 = 240-2) + 4
Fa- i = x(X-B)-(B+3e-xT)= x (o+0-0-%"0+ )= 20x(x)
ENR NN

o 2 2 2 2 | 2

o %j Sox (“'("U+4)" 2521 (x-1) = X I.(‘b-zr(/—x) + 200 "21’2(3(-1)2

5 2
= —Z-‘JLJZT(X-{) e

X [
Sa-psts jy(M‘)JZS‘ (x41) = losx+ 3 = -;'t,lt'-'-hti- (o0&




